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Full Marks : 70
Pass Marks : 21

- Time : Three hours

| The figures in the margin indicate full marks
, for the questions. '

| Q. No. 1..&* Q. No. 2 carry 1 mark each” . 1#3 = 3'

0. No.3 (@ to j) carris 2 marks each | 0= 20

Q. No. 4 .(a to j) carries 3 marks éach (any nine) 3%9 = 27

Q. No. 5 (atod) car;‘ies 5 marks each (an}) three) 5x3 = 15
| | Total = 7q

dis



1. Choose the right answer from the four alternatives given below :

; were fl Wﬁmw o[l 9% Wﬁﬁrﬁ%ﬁw |

(@)

- 1x4=4

Which one of the followmg is not a push factor ?
- RefiRe @R Rl IR T ¢
(i)A Water shortage_
(i) Medical / Educational facilities
BRe / it Rt

(i) Unemployment

()

- P
(iv) Epidemics

TSt

Which one of the following countries has the highest sex-ratio in the

world ?

ﬁwﬁﬂ@@mmq@%wm @%ﬁ\ﬂwvn@w ?

() Latv1a

(i) ‘United Arab Emirates .
IS ST 919D

Gii) Japan |
ot

-(iv) Fran.ce‘ }
b
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(c) * Which one of the following is not a plantation crop ?
RafilRe @R[y @6 =g a8 ¢ :
(i) Coffee '
R _
(i) Sugarcane
e
(i) Wheat
o
(iv) .I.{ubber
koo
(d) In which of the foilowmg trade blocs is India an associate member ?

'~'ﬂ@ﬁ@ﬁ$ﬁﬂﬁmﬂ@ﬂ%ﬁ@@@ﬁf@ﬂﬁﬁ&@ﬁhﬁﬂ?

() SAFTA
«p. Q. wﬁa |

(zz) ASEAN
. @, @b, 3, 9. G

(m) E. U. . .
e L
() OPEC |
AR 2
2. Answer the followirlg questions in brief : 1x4=4

wﬁmmwwm

(@ When was the first complete population census in India conducted ?

Wﬂ’ﬁwm‘fmﬁw (R 57O WS 2
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®)

(©).

What is Populatlon Doublmg Time ? -

w@ﬁ@qmiﬁmﬁsw ?

' In which dlstnct of Assam D1bru-Ch01khowa Natlonal Park is located ?

(d)

3. Answer in brief :

Name the source of river Brghmaputfa. _

Wéﬁﬁa%&ﬂmmﬁw

2x10=20

by e fm ¢

(@) -

‘Define human geograpﬁy.' B

'ww*nmmﬁm

(b)

(©
(@)

(e)

Name three geographJcal factors that mﬂuence the dlstnbutlon of

populatlon . .
wmﬁmrmﬁww W@WWWMn |

What do yog understand by, populatxon compos1t10n ?
TR 1o 3 R gm e
Write the names of four pillars of Huma,n"Development.

T R BT T TSR A

Market gérden_ing is practised near urban areas. Why ?

o s AR S TR TR O ST SR A | Ry
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(/) - What is retail tradiag service ? |
& T G
(g) What are the mam facters for loc.atior-lbof-.vijll'ag-e.s. in desert regions ?
g ST A1 TS o T e TR SO O A2
(®) Name six Administrative towns and cities of Ind1a
'_W e?fﬁrﬂwﬁﬁaﬂammmﬁw -

(i) Name unportant items which India imports from d1fferent countnes. ~

Wﬁﬁmwwwwmmmm«mmu

G) " Name two h111y districts of Assam.
PR vnq@zn o= T A Bt |

Answer the followmg questlons in about 100 words each :
(any nine) : 3x9=27

s frat enpRE OR ER 10061 W Roows it ¢ (et A1)

Differentiate between Primary and Secondary -activities.

@) !
' sl IR RO IR A<y
(v) Which are the major regions of the world having a dense network of
air ways ? - 4
qﬁlﬁw @ﬂwamwaemwm*‘ﬁﬂ%wwﬁas ?
(© Write different types of Intemagonal trade.

O e [fem aeoeE i
(@ Which are common property resources’?
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What can be possible impacts of consumptlon of contanunated water
on the people ?

! zﬁwﬁwwwwﬁwﬁfmm&ﬂmﬁ@m ?

®

What is nuclear power ? Mentlon the unportant nuclear power stations

in Indla

W‘Tﬁ@‘ﬂ@ﬁ? ?quﬁﬁmﬁi mwmﬁmwu '

Describe the problems of slums of India.

()
@

(0

_a@qmmwwﬁﬂ%? :

Answer the following questioris : (any three)

Describe the density of population in Assam.

mewacﬁtﬁm

What is the dlfference between pollutlon and pollutants ?

°

Give an account on the Tea Industry of Assam. |
PR biT SrprR REca <ot 19 |

5X3=‘15 .

e frat e e it ¢ (Rt oY

(@)

)
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Discuss the problems assocnated with Urban settlement or Rural |

settlement in developing countries.

WmcﬁWammemWW|

Describe the role of land-transport in the economic development of

India.

WWWW%WWMCW?{@W|
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(c) Descrlbe the climate of Assam in brief.
P W’B <5 5y 39

. {
() Mark the following places and rivers on the outline sketch map of
India°: : :

W{aaﬁamwﬁmzﬁmﬁmma 3
() Capltal of two states :

(1) Mumbai

(2) Imphal
(ii) Two rivers :

T AN

(1) Mohanadi

(2 Kopili

oo
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